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() ARIE®) (M) (M) (F) (kg)

=LNCA 29.4 JtiEE 23.8 — 1,512 — 10] vay
LA T & 5.5 - 1,296 — 10
IZALA 32.3 JtiEE 31.7 — 2,808 — 10] vay M
IZALA t E 0.6 1,296 — 1,188 10 L
E) 0.9 BRE 0.3 1,836 1,620 1,404 2l A LL
EXER 25.7 & % 25.4 3,456 2,300 2,300 150 A 6
HTE 1.4 2 E 0.9 1,944 — 1512 4 M
ZEDOH 7.8 ERE 5.1 2,484 2,430 2,376 4f A M
TRy 97.7 B E 70.9 1,728 1,296 1,080 10 vay 8
Fry ElG 12.6 1,296 1,080 1,080 0] A 8
IF5NhAES 1.6 RS 0.1 — 6,750 — 5] vay L
R=E 11.7 JtiEE 9.2 2,484 2,160 1,944 3 A LL
hE 1.2 kB 0.7 5,184 4,536 3,888 3 L
125 2.0 = I 0.9 5,238 4,590 4,320 5] va9
)L — 1.7 & % 1.7 3,024 — 2,700 0] A LL
T RINSGHR 0.8 EES 0.6 — 119 — 0.1] va9 M
Hh)257—
JOyal)— 49 JeiEE 4.8 4,147 3,888 3,564 6
LR 33.8 E & 17.7 2,376 2,160 1,620 0] A 12
LA E % 10.5 3,024 2,700 2,592 0] A 16
FUF YA 1.2 BRE 0.7 3,240 3,240 2.160 4f A L
=S5t 16.8 EES 9.0 — 3,024 — 5 Yay L
=p5Y ElG 7.7 2,700 — 2,484 51 B M
NESSED 6.6 JeiEE 6.6 - 1,296 — 10 9
Y 6.6 = I 0.9 648 — 540 5, D M
k< 15.9 EES 8.8 3,780 3,456 3,348 4 B S
=S 5.9 EES 24 4860 4,860 4536 3 M
F—<y 3.7 x 9 1.2 109 — 108 015 A M
E515CL JeiEE - 9,720 - 10] A 30
12H5Y 1.2 ERE 1.0 2,268 1,404 864 3 A M
SOVAITFA 0.4 ERE 0.4 - 2,808 - 2l A
MrAL& 15.8 BERE 14.2 1,836 - 1,512 50 A L
MALE ERE 1,944 1,728 1,728 5/ A M
[EhiLs 58.2 JtiEE 58.2 3,024 — 2,808 10 A LL
<AL 0.6 ERE 0.6 3,240 2,700 2,160 5 A
BHLE 5.8 JeiEE 5.8 5,184 4,968 4752 10] A LL
=Eh&E 75.8 JtiEE 74.7 4,320 - 4212 20 L
ELLV=T 1.4 ERE 0.1 119 — 97 0.1 Wi L
ELLV=T £ 5 0.6 248 — 216 025 M M
ADEET 6.0 £ 5 2.1 38 35 30 0.1 A
ZDELET ERE 1.2 38 31 31 0.1 A
L&HL 3.1 12 [ 25 97 79 78 0.2
PP iRET 491.8
e
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(t) ATE®) (M) (M) (F) (kg)

RN A MAET 14.3
BAEM 13.8 B X 6.4 - 1,620 - 10 L
BEA B M B K 2,592 1,620 1,620 10 M
BAEM B X 2,484 1,944 1,836 10 S
BAEM i B 2.7 - 2,052 - 10{ 7hv2 L
BEA B M & B - 2,268 — 10{ 7hv2 M
BEA B M & B - 2,160 - 10[ 7h¥a S
LEY 2.9 F 1) 1.1 7,020 4,320 864 17 115
INLUDT 2.9 = il 2.9 7,344 5,724 4968 17 88
SL77ILY 1.0 E72Y 0.6 — 4,536 — 15
YACE 11.5
2h3 5.8 "5 & 5.8 - 3,888 - 10| 7hY2 32
2% g5 & 5,832 3,888 3,780 100 40
ZRHYAZ 5.7 £ % 4.1 - 4860 - 10| Rty 28
HARZLET 18.4
2K 0.7
bl 75 X & 75 4536 4,536 4,320 10[ 7h%a 14
ZTDHEL 10.3 B X 8.9 - 4,320 - 10{ 7hv2 28
FEELGL 0.2 £ % 0.1 3,240 - 2,700 5 14
MEE 14.0
ARELE 55 = [E 55 - 2,700 - 75 C L
TEEAE 6.6 FO0FL 6.5 - 2,700 — 75| 74va L
ZToHEIE 2.0 12 [ 2.0 1,836 - 1,728 45| C LL
ZDHELAE 12 [ - 378 - 042 ¢C LL
SESET 1.1
Big
EA—=* 0.1 S| 0.1 - 4,644 - 5[ Ly 7
<Y 0.3 = 0.2 594 - 540 1 L
A0 &t 15
7—ILR 0.9 BE K 0.4 - 3,564 - I ED) 3L
FDAOL 05 T A)H 0.1 5,400 - 5,076 10 6
FULIAEE 0.4
FLAA 0.4
INFF 26.1 EJEY 26.0 5,584 3,186 2,938 15
IMFyTIL 47 EUEY 47 3,456 3,024 3,024 10 8
FoA4T)LY 2.3 - 2.3 2,700 - 2,484 4 30
BEET 102.2




